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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
<RETT : X1
ARTS & COMMERCE
Bl T FIoTH

Time : Two Hours | [ Maximum Marks : 100
GqF . & qo2] [ % : 100

1.

| Read carefully the

Answer Sheet and answer the questions as directed : |
| gvee ar T gav s w9 @ R orgdw e
| 93T ofrT fdemgare guv @i -

IMPORTANT

Instruction for Amswering’ gwen on the |

Which of these countries is not a permanent member of security
council ?

(1) Russia (2) China (3) France (4) Germany
T @ BA-A1 AW YT IREE w1 e aee J@ B ?
(1) == () = (3) shiE @) s

Which of the following i§ net a Constitutional body ?
(1) Election commission (2) Planning commission
(3) National Advisery council (4) Interstate couneil
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W T ®H wifaiae Sem T e v

(1) g =T {2) QIS S
(3) U Herwehre uiiwg (4) s afteg
3. Which of the following countries has one party system ?
{1) U.S.A. (2) England (3] France [4) China
=1 # 9 foe 3w O Uepeeg agewEr ® 7
(1) et (2) FivE (3) wid @) dN
4. Which of the following is not essential element of state ?
(1) Land (2) Democracy (3) Population (4) Sovereignty
et | B ey @ erfaard o 7@ B 7
(1) iy (2) BT (3) sHEEA (4} HEHT

5. How many language are recognized in the VIII"™ schedule of Indian
Constitution ?

(1) 22 (2) 23 (3) 24 4} 25
W#ﬁwaﬁaﬂﬁﬁa@@%ﬁﬁﬁ?ﬁﬂmﬁﬂﬁmw
-

(1) @2 (2) 23 (3) 24 oy

6. There is no official religion for ............... :

(1) India (2) Pakistan (3) Srilanka (4} Nepal
............ %0 W ARG TH el 2
(1) «r=d (2) wifpe  (3) e (4) U=

7. In Indian Constitution, the concurrent list has ........... subjects.
) 45 Q) 46 (3) 47 @) 48
sy wWRAgE & G G H fagy &
(1) 45 (2) 46 (3) 47 @) 48



10.

11.
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Who is the author of the book 'Jungle Book' ?

(1) Jane Austen (2) Milton

(3) George Eliot (4) Rudyard Kipling
ST g’ el T ¥ 7

(1) S7 . (2) s

(3) ifst gherge (4) osard T

National Rural Employment Guarantee Scheme (NREGA) was
launched in the year :

(1) 2004 (2) 2005 (3) 2006 [4) 2007
TR Trfor Jorme gRen Ao () fey ad grew g€ 7
(1) 2004 (2} 2005 (3) 2006 (4) - 2007

Which of the following countries has highest rank {n the Human
Development Index ?

(1) Srilanka (2) Bangladesh (3) Pakistan (4) india
e A g # g @ fm-ar S o & 7
(1) =licier (2) @FwmesT (3) TREE™ 4y "

Right to Life' is recognized under which article of Indian
Constitution ?

(1) Article 17 (2) Article 18
(3) Article 19 (4) Article 21

g wEEH @ e ergedw d e o @1 ol ofeafag
g ?

(1) o= 17 (2) SR 18
(3) egesT 19 @) sgER 21

5
(5) A el
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12. How many members are nominated by the president for the Rajya

Sabha ?

(1} 10 (2] 11 (3) 12 (4) -15
Ay eadsr & oo e wewl B g we ¥ 7
(1) 10 (2) 11 (3) 12 4) 15

13. National consumer Day is celebrated on .............. ;
(1) 24th December (2) 25th December

[3) 26th December (4) 27th December

.............. Y Tl HIAD 2

(1) 24 Rem=e (2) 25 fag=y
(3) 26 Rew (4) 27 RE=ER

14, Who among the following was not associated with Non-Alignment
Movement (NAM) ?

{1} Tito (2) Nasir (3) Nehru (4) Stalin

Foet of & oty wpefacder oTEleTT A gt 78 o ¢

(1) Jr=y (2) =fEe (3) & (4) F=Ifer
15. Who chairs the joint session of Lok Sabha & Rajya Sabha ?

(1} Prime Minister (2) President

(3) Lok Sabha Speaker (4} Home Minister

S e T T T B HgE AR B 7l HF BT E 7
(1) s (2) wrezuafa
(3) wrh gl A (4) T

(8)
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16. Under which article of Indian constitution 'Right to Equailt} is

explained ?
(1} Article 14 - 18 (2) Article 23 - 24
(3) Article 19 - 22 (4) Article 32
wRelE die™ & B ergedw § A @ sy al ¥ 7
{1) sg=8% 14 - 18 (2) S8 23 - 24
(3) @gEseE 19 - 22 (4) or=mE 32
17. Borlong Aﬁard is associated with ; |
(1) Agriculture ' (2) Religion
(3) Industry - (4} None of these
SRR TR T 2
T (2) =l 3
(3) JEna | (4) 9% § g 7
18. 'Muktivahini' fl:-ught for the freedom of .............. .
(1} Tibet ; (2) Jammu &.Kashmir
(3] East Pakistan/Bangladesh (4) West Pakistan /Pakistan
ot A # @i # R wed adl
(1) R (2) S SfT e

3y bt afrem ARy (4) uf¥ed aifwe o

19. Who was the Chairman of Objective Resolution Committee of
Indian Constituent Assembly ? :

(1} Mahatma Gandht (2} Sardar Pate]

(3) Pt. Jawahar Lal Nehru (4) Dr. Rajendra Pragaq
ﬂrrcﬁuﬂﬁmﬁﬂmiﬁaﬁ‘ﬁ%ﬂﬁﬁ#ﬁ%mmﬁ

(1) wersT e ' (2) HER g2y

(3) do WAET W AEE 4) 3o T e

(7)
PTO
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20. 'Panchasheel' agreement signed in 1954 was between

1 O :
{1} India & Pakistan (2) India & China
3y India & Nepal (4) India & Bangladesh
et 2t gl o g qasfe a@ffe 1954 § 99— 88 7
(1} a3 qifte (2) w|a AT A=
(3) RT3 Hure (4) 9 SfT FaEsT
21. Gandhi Sagar dam is constructed on :
(1) Mahanadi ' (2) Chambal river
(3) Tapti river (4) Sutlyj river
DTS ID RS 1£5 S 7 fafa #
(1] w@=eT (2) == A4
(3) < v : (4) Tager
2. The western coastal stri;:; south of Goa is referred to as :
{1) Coromandal (2) Kannad
(3) Konkan {4} Northern Circar
e 3 afaor F feaa ofyew adfta @@t . FHEAT T 1
(1) @#REmwess (2) &1
@) s - (4) SH T
3. By how much is the time of Varanasi ahead of IST ?
{1) 2 min. 3 sec. 1 (2) S min,
(3) 1 min. : (4] 3 min. 3 sec.
a_mwﬁ-gmmwwﬁmaﬁ%?
0y 2 B 3 FAvE @ S fre

4 3 9= 3 G9vws
{3]!&[3—3 (4)

(8)

--------------
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26.

27.
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Choose the non-ferrous mineral ;

(1) Bauxite (2) Manganese
(3) Chromite (4) Iron ore-
srie @i gy |
(1) =terRz (2) Hme=
(B) =HmrEE (4) e e
'MAHAWAT' is associated with ................... .
(1) Retreating Monsocon (2) South-West Monsoon
(3) Summer Season (4) Western Disturbance
HEET ... q Tt &)
(1) Faffa megs (2) =ferer-ufyed ArEA
(3) A =g C(a) ufesft e
Ozone is found in ...............
(1) Troposphere " (2) Stratosphere
(3) Exosphere (4) Tropopause
ST L T Ot el B |
(1) -efreryoee | (2] HEAYH =
(3) afEHvew (4) & G
Which one is the shortest day in southern Hemisphere 7
(1) 22, December (2) 21, March
(3) 23, Septamber | (4) 21, June
gl A ¥ w99 B R Pl
(1) 22, G@sR (2) 21, smrf
3) 23, faera @ 2w
(9) |

PTO
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28. Tungabhadrais a tributary of ................. river.
{11 Krishna ‘ (2] Kaveri
{3} Godavar (4) Narmada
T T L T HEEF TE §
(1) o - (2)
(3) =T (4) FHIT

29. Which state is the largest producer of rubber in India ?

(1) Uttar Pradesh (2) Karnataka
(3) Kerala (4) Tam:l Nadu
W T v Fmwed oo e # o

(1) I7 gdsr (2) e

(3] et (4] AR

30. 'Scriculturce’ is assuciated wilh

(1) Dairy (2] Flower

(3) Fisherv (4} Silk production
Girpedy FAE WERaT 8 7

(1) g e (2} T BT

(3] weE HIeH (4) I 3UES

31, Which state has the largest area under permanent forest ?

(1) Punjiﬂh (2) Haryana

3) Utar Predest 4) Madnya Pradesh

e T g1 TIEN AT A\l 27

| | 2) &y
) o i
& ;

t10)
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32. Which type of soil is useful for cotton production ?
(1) Alluvial soil (2). Red soil
(3) Bl&;ck soil | [4) Laterite soil
FATH ITeT H a1 H BHH-G1 WHC IghE s & 7
(1) weig g @) @ g
(8) =Wl Ty (4) <IeTgE HaT
33. iject‘ tiger was launched in .: |
(1) 1973 (2) 1974 (3) 1975 - {4) 1976
T GRS H AT &R 7
| (1) 1973 (2) 19?;1 ~(3) 1975 (4) 1976

34. Which of the following river has the largest water area ?

(1) Mahanadi {2) Narmada
(3} Krishna {4) Godavari
o o § g o 1 S wewr @ matfes ¥ ?
(1) =emat (2) =T

(3) FHum (4) Tarrd

35. On which river Indo-Pak Bagalihar in located ?

{1} Chenab (2] Jhelam

(3) Ganga (4 Sutluj

(1) P.T.0.
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WA Uik dfse ofimwem ey 9t or e R 7

(1) =+ 2) e
(3) e @) g
36. When did Germany withdraw herself from the 'League of Nations' ?
(1] 1933 (2) 1934
(3] 1936 (4) 1939

Tl F B aredEy’ § @d & AT H7 fewr 7
(1) 1933 .'{2} 1934

(3] 1936 (4) 1939

37. Kanishka established his capital at
(1} Magadha (2) Purushapura
(3) Karnal (4) Ajmer
HRISE 3 U o e wenfE 7
(1) = (2) EWGR
(3) =TT (4) ST

38. In which year khilafat committee formed in Bombay ?
(1) February, 1919 (2) March, 1919

(3) April, 1919 (4) May, 1919
(12)
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I 7 e Eﬁ%ﬁ'ﬂﬂ TS &g fapar T ?

(1) ww=d, 1919 (2) =, 1919

(3) o, 1919 (4) =%, 1919
. In which year kheda Satyagraha took place ?

(1) 1914 (2) 1915

3 1917 4) 1921

Q3T Tene oy af § gay ?

(1) 1914 2) 1915
(3) 1917 (4) 1921
. Who is the author of the book 'Gulamgiri ?
(1) Jyotirao Phule

(2) B.R. Ambedkar

(3) Ishwarchandra Vidyasagar

(4] Perivar

TARE e o B 7

(1) e g

(2) dlo R0 T =T

(3) svave= MR
(4) aftar

(13)
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41. Who created the very first image of 'Bharata Mata' to spread
nationalism ?
(1] Jawahar Lal Nehru
(2] Rabindranath Tagore

(3] Mahatma Gandhi
(4) Bankim Chandra Chattopadhyay |
=TT 7
(1) SAdTEr @ "%
(2) diws A7 BT
(3) WEIE T
(4) SifHH T TETEE
42. Which pair is not correctly matched ?
(1) Kalhana - Rajatarangini
(2] Jayadeva - Gitagovinda
(3] Chandbardai - Prithviraj Raso
(4) Kalidas - Kathasaritsagara
feefofeaa @ <Sra-an St Wil g8l B 7
(1) e - TIadEEn
() FURE - HATE=
(3) HEETEE - YT ael
(@) i - FEIHRERT

(14)
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43. Name the place where the resolution for complete independence
was declared . '

{1) Calcutta (2) Bombay
(3] Madras | | (4) Lahore _
SH W H A0 FAORT T g @RS #ouEng gt ger ¢
(1) =Herepr H (2) s
(3) wEH | (4) @RI
44. When did the first cotion mill come up in India ?
(1) 1853 (2) 1854
{3) 1855 (4) 1856
maﬁﬁmwﬁw_ﬁmﬁa@ﬂ?
(1) 1853 2) 1854
(3} 1855 (4) 1856

45. Who laid foundation Young Bengal' in India ?
{1} Raja Ram Mohan Roy
{2] Swami Vivekananda
(3} Ramakrishna Paramhansa
(4) ilienry Vivian Derozio
‘TET M’ ] WA ARG F o A ?
(1) ¥ = W Ty T
(2) T EEmE
(3) THFT WHEd
(4) &4 Eus %‘ﬁﬁﬂﬁ

(15y —

P.T.Q
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46. Champaran Satyvagraha was mainly associated with :
(1) Tea (2) Indigo
37 Cotton (4) Wheat

TIO HYIIE YeET: TrEead Al

(1) == 3 (21 & |
(3] FurE o (4) I A
47. Frém which country renaissance started ?

(1) Portugal (2) England
(3} France (4) Italy
JHSIIROT h1 g R dar | g ¢
) RaRIL (2) IS
(3) ®H (4) gt

48. Who was the founder of 'Young Italy' ?
(1) Mussoclini (2) Bismarck
(3] Mazzini | (4) Hitler

oy Tl i fATar @ o7 ?

(1) wpEfer (2) o
(3) At (4) E’E'?‘H‘

49 Who among the following was not moderate ?
(1] Firoz Shah Mehta (2) S.N. Banerjee
3) Bl Gangadhar Tilak (4) Gopal Krishna Gokhale
[16)
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@ & B T A

(1) 50T e feen - (2) THo To &S

3 =T wmere Rvers (4) e o e
50. In 1784 William Jone;s founded ‘Asiatic Society' in :

{1) Bombay | (2) Madras

(3) Allahabad (4) Calcutta

1784 do ¥ Rfvmw g 3 ‘oRmfes SoEd’ & g w8 @

off ?

(1) s= . P

8 weEm (4) Fo
31. Through two points :

(I) noline can be drawn

(2) a unique line can be drawn

(3] more than one line can he drawn

(4) None of these

o 31 fag &

(1) +g ¥ Y@ TE 99 e

Q) wh T Yar T a3

(3) g% & IfE Tar TTw—h F

() T @ W

(17)
P.T.0.
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52. If 1P+ 22+ 33+ ... + 9% = 2025, then (0.11)% + (0.22)° +
............ + (0.99)° will be ;
(1) 0.2695 (2) 2.6905 (3) 3.695 (4) 0.3695
e 13+ 2% + 3% + e + 9% = 2025, & (0.11)% + (0.22)° +
............ +{0.99)° BiT :
(1) 0.2695  (2) 2.695 (3] 3.695 (4} 0.3695
53. The area of the shaded region is :
7 cm
7 em
(1) 12 cm? 2) 14 cm?
(3) 12.5 em? 4) 13 cm?
oA o T At ¥
7 @t
7 1
(1) 12 8 2 14 @
(3) 12.5 &4 (4) 13 =i

54, What is the
interest 10
Rs. 10007

3
3 32

differenice between compound interest and simple

r 3 years at a rate of interest 10% per annum for

30
@) 33

(£]

(18)
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56.
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o 1000 &I 10% =¥ =3 #it o & 3 a9 1 gGHghs = aon

QYT SN & ST 2
(1) 31 (2) 30

(3) 32 (4} 33
Every rational number is :
(1) A natural number
{(2) An integer

(3] & pesd nmumbier

{4) A whole number
7% i Her ¥ -

(1) <% Srplers e

@) @ g

(3) wm eI ey

(4) o Tt "o

In India 'The National Voters Day’ is celebrated on :

(1) 22, January
(2} 23, January
(3) 24, January

(4) 25, January

(19)

P.T.0
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R ¥ “ndiy et fFEe e A S owEmEr s § 7
(1) 22, si=gd
{2) 23, s
3) 24, s=a
(4) 25, sFEd
57. The first chief minister of Uttar Pradesh was :
(1} Jai Prakash Narayan - (2) Kamla Pati Tripathi
{3) Govind Ballabha Pant (4) C.B. Gupta

ST ORAT W AT AT 9

(1) ST SehreT ATOH (2) Fwenar EAE
(3) < Foos 9 (4) ®o So I
58. The currency of Japan is:

(1) Yen (2) Dollar

{3) Pound (4) Dinar

ST T R

(1) 3 (2) ST

(3) qEvE ' (4) 4T

9. Who is the present governor of Reserve Bank of India 2
(1) Raghuram Rajan (2) Urijit R. Patel

{3} Manmﬂhﬂl Slﬂgh {4] D. Subbaraog

(20)
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- I ol S & gedum v @ ¥ 7

(1) TOF IS (2) IR FRe T3
(3) W=HEA fie | . 4) o gERE
Who was the flag bearer for India in the Rio Olympic (2016) ?
(1) P.V.Sindhu @) Saina Nehwal
(3) Abhinav Bindra (4) Sakshi Malik
RAl sPes (2016) # swrer @ aEEs B oor ?
(1) o dro Ry (2) @ Sz

(3) S¥" Rymr: (4) qreht wfes
Which is the synonym of the word - OPULENCE 2

(1) Luxury (2) Lascivious

{3) Penury | (4) Puerile

Smoking is injurious to health. ‘Smoking' is used here as a -
1) Conditional |

(2] Determiner

(3) Gerund

(4) Modifier

What is the synonym of the word - DISDAINFUY, 7

(1) Contemptucous {2) Frantic

(3) Distrustful (4) Cemepicyous

21
(21) P.TO
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64,

65.

67.

68.

'Shylock' is a character in which of the following text ?

(1} Macbeth (2) Te@est

(3) The Merchant of Venice (4) King Lear

‘The wind was the angry witch'. 'Witch' here isat

(1) Simile (2) Personification

(3) Metaphor (4} Metonymy

The study of how people vote in elections is called :

(1} Electorate (2] Refi erendum

(3) Psephology (4) Electoral psychology

A type of grey stone that comes from volcanoes and is very light in
weight is called :

{1} Pumice (2) Revile
(3) Fauve A Pectin
What is the meaning of the word - INSOLENT ?

(1) Insoluble (2) Maim

(3) Rude {4) Insouciance

69. Which of the following is a distributive pronoun ?

(1) Who {2) What

(3) Some (4) Yourself

(22)



70.

71.

72.

73.

74,
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Which is the correct passive voice of the sentence ? "People say
that he is honest."

(1} He is said to be henest.

(2) It is said that he was honest.

(3) He is said to had been honest.

(4) That he was honest is said by the people.

Which of the following sentence is wrong ?
(1} We have had enough training

(2) The radio broadcasted the news last evening
(3) 1Ifit rains, we shall not go to school

(4} If you heat ice, it will melt
Fill in the blanks -

In Britain more people dn"nk 7. y

(1) some coffee (2) More coffee

{3] no coffee (4] than coffee

Choose the alternative that best expresses the following idiom :
Apple-pie-order ’

(1) in disorder (2] 1n a trouble

(3) in good candlitinn ' (4) inahurry

Fill in the blanks with appropriate prﬁpusitioﬁ_ :

The sun sank ..........cooeevn the hill.

(1) above ' @ up

(3} down (4] under
{23)

P T,
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75. What is the plural of the word - Fungus ?
(1) Fung (2) Fungesses
(3) Funguses (4) Fungsics
76. ‘ﬁmﬁﬁ‘rﬁﬁ-ﬁmﬁm%ﬁ'ﬁﬁﬁ-waﬁm%?
(1) =7 (2) 39H1
(3) E9IF — (4) S

77. ‘Grr:nram{iaﬁmfaﬁmﬁ%:
(1} 2ToeTs TE

{2) anerEer &Ll
(3) Hied WA FIAT

4) HEEd qr o
78. ‘émaarﬁﬁawgﬂﬂﬁéﬁﬁwaﬁﬂrgﬁwﬁﬂmﬁ?nﬁ‘m
L3
(1) ggxq (2) garErd
(3) T (4) Q4

0, i R Ty F B A © 7

() 1Y (2) AR
(3) & . - (4) H

80. ﬁmﬁﬁf@ﬁﬁﬁaﬁq-ﬂrgam%:
(1) FRA (2} ST

(24)
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82.

83.

84.

85.
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A+ T = diw Reg dfr @ Sger

(1} ovfy (2) &

(3) v | @) T
%S W G B P oaref §

(1) ==« S (2) T F &
(B) FET @R - 4) g B

@-mﬁ@-iﬁg&maﬁﬁq:
g o- o g - g
() i A)  BHT
(@) ﬁ‘rﬁﬂ%gr (B) argw
() 3w g [t} TR A
() e (D) eR-@r awmEw
(1) ®-C,®-B,T-A9-D (2} % -D,® ~-C,7T-A,9-B

) $-B,T-AT-D,4-C (4 $-D,@-C,T-B,§-4

(1) smeET _ {(2) ¥AA%GT

(3) | (4) TN

‘W:+W’ﬂﬁﬁﬁﬁwaﬁ1ﬁ:

(1) (2 #Em

(3) AN (4) =T
(25)
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86. = I == @1 S9~1e 78T & ¢
(1) <hFTRsq (2) =HebrA
@) dmrsm (@) e

8§7. ‘o Rw ue Ul 93 N - IR A W B
FUJ HqME TH (2) =& ™
(3] AwuEd T (4) o =

86, frifeifg § @ Ar-ar 7o goarcer A gie & T T E ?
(1) d (2)

(3) T | 4) =

B9. ‘@’ @ @iy el ¥ o
1) g + Sd 2) ®& + AT

(3) =+ 14 (4) ™ + ST

90. waaﬁgﬁﬁm“ﬁm%@ﬂ”mﬁaﬁﬁmmﬁ;aw

E o
(1) =Bfadm (2) HEE
(3) B (4) TEntEE

§1. The Reserve Bank of India came 1o existence of -
(1) 1st April, 1936
(2) 26th January, 1894
(3} 15th August, 1947

(4) 1st April, 1947
(26)



92.

SET/17/20/XI(A)/(2)

TRy o S B e e g ?
(1) 1 3@, 1936
(2) 26 S, 1894

(3) 15 erre, 1947

(4) 1 a9, 1947

The National Stock Exchange (NSE) is located at :

(1) Mumbai (2) New Delhi

(3) Chennai {4) Kolkata

TSR 99T ST el Ry B 7

(1) o= & () =% Rwh X

3) o= & (4) rewprm 7
The contribution of agriculture to India's economy is :
(1) Constant . (2) Increasing

(3) Decreasing | (4) None of these
A e § W B e ¥

(1) R (2) Sear g

(3) w=Eam gem (4) T ¥ o

Which one of the following is not the function of money ?
{1) Medium of axchange

[2) Store of value |

(3) Allocation of resowrces

(4) Money as a unit of measurement

(27}
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et & & ®9 981 B = T8 2 7
(1} &= & A
(2} "I H AUSR
(3) wHarH! 1 stEeT
(4) T A H IFE
95. If total utility is decreasing, then marginal utility must be :
(1} Negative
(2) Decreasing at an increasing rafe
(3) Increasing al a decreasing rate
(4) Positive
ﬁﬁﬁmﬁm%@ﬁ,ﬁmwﬁﬁmaﬁw#ﬁ:
(1) I
(2) el &€ 9T Al §R
3y wedl & O dedl EB

(4) T

g6. Which of the following factors of production is most likely to be
variable in the short run ?

{1) Land
(2) Labour

(3) Entrepreneurship

(4) Capital

(28)
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98.

SET/17/20/X1(A}/(2)

e & & P99 SEmd P greT owuE § qRedHsie 8 © 7
(1} g

(2) =™

) s

(4) gom

Economic causes of under development of India is/are
\1}) Market imperfections

(2) - Predominance of agri-::ultur.e

(3) Lack of technical knowledge

(4) -All of these

WA H afe g B i wror %
(1) = srgofey

2) FN F gerear

(3) T M T gt

(4) EEl?iEﬁ'Fﬁﬂ' -

Under disguised unemployment marginal productivity s -
{1} Equal to zero

(2) Equal to one

(3) More than one

) Infinite

29 .
(29) T o
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99.

100.

fordt 22 AT & sl drE SaEs S

(1) g9 & S

@) @ B TR

(3) W & T

(4) H1T

The law of Demand refers to :

(1) Price-cost relationship (2) Price-supply relationship
(3) Price-income relationship  (4) Price-demand relationship
g7 T e ST €

(1) Hoa-arm & (2) T T

(3) Heg-oTF WEH (4) FEg-HET FIEH

Who is called as the 'Father of Economics' ?

(1) Adam Smith (2) Kautilya

(3) David Hume (4) Alfred Mars_hall
aredeed @ e (R e wea & 7

(1) =9 & (2) @ifed

(3) 2fs = (4) FITHs

(30)



